SeatNo.: Enrolment No.
GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Semester -VI Regular Examination May - 2011
Subject code:351905
Subject Name: Estimating, Costing & Contracting
Date:23/05/2011 Time: 02.30 pm - 05.00 pm
Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is Authentic
Q.1 (@) i. Define Costing and state the advantages of costing.
i1. Find selling price of table if the prime cost of 3000 table is Rs.
1,50,000. Factory overheads are 60% of prime cost,
administrative overheads are 40% of factory cost and selling
overheads are 30% of office cost, and 20% profit on total cost.
(b) Classify elements of cost. Explain each in detail.
Q.2 (@) Explain factors affecting the welding cost.
(b)  Explain elements of cost in welding.
(c) What are methods of calculating depreciation? Explain any one in detail.
OR
(c) A machine is purchased for Rs. 50000 and its expected life is 15 years.
Its scrap value is Rs. 20000. It 5% interest is charged on depreciation
fund, compare the depreciation rate by straight line and sinking fund
method.
Q.3 (@) What are losses in forging? Explain with help of neat sketch.
(b) 100 components as shown in fig. 1 are to be made from M.S. Calculate
the material cost, if density of material is 8 gm/cm” and rate is Rs. 1/kg.
OR
Q.3 (a) Explain terminology used in Machine Shop Estimation.
(b)  Estimate the total time taken to turn a 10 cm long 2.5 cm diameter. M.S.
rod to a diameter of 2.3 cm in a single cut. Assume cutting speed to be
25 m/min. feed 0.1 mm/rev., and the mounting time I self centering
three jaw chuk to be 40 sec. neglect the time taken for setting up tool
etc.
Q.4 (@) Derive Equation to calculate BEP by analytical method.
(b)  The financial statement of a manufacturing company is as under :
1. Total cost : Rs. 80 lacs
2. Variable cost : Rs. 55 lacs
3. Fixed cost : Rs. 10 lacs
4. Net profit : Rs. 15 lacs
5. Nos. product : 50000
Find the break even point by Graphical method.
OR
Q.4 (a) List the forging operations. Explain any two in brief.

What are limitations of Break Even Point analysis?
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Q.5 (@) What are factors to reduce cost?
(b)  State the conditions of Contract. Explain any one in brief.
OR
Q.5 (@) What are modern tools and techniques to reduce cost?
(b) Define budget. List types of budgets. Explain any one in detail.
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